11.33

R

B

1 = Hh!! &I
H=2.%D =208 4.87 H=3.15 12.55 Nt B-1
R | | e — | H=3.80
<l la 781 & j
) 483 - p m = B
5.54 P~ E?E w0
s 24.25 i h=2-9? | =
l%:‘- ? h=3.35 13.92 & || e
= A o
I & 8 F 518
- . . =
h 8 S 8 i
haiid 5.60 5.80 3.24 e % o g o §"
. 1 1 g
264 0. 240 i
g | Late_JB > o osdE = 45| U REGE:
e 357 s = o § o 2 s 80.87 2,87 8.73
| A S R N —— N —— N ——— = = . - —— 1] 5
= ol e 2 162 498 5.92 2 4.66 3.82 9.23 5 5.82 ] 2.69 E 2.60 2.80 5.40 5.90 &l L
T T 83. - ;
®e 2 o [[0:28 i T Al 475 Sithe
‘3 L éaﬁ 5%55 S o ﬁla o 626 ') 1098 ng %?7 ; & © % ©
_E_am — ;3' ; =l #f1= .r=|'|£ ME e vy 8.82
o ]| 3 t L A e - — =
- 164 5 % §i:' ﬂa E h=2.80 g %3 o M| E_
84 | e Ipokr | ~Taddell | | nolo Bl A S [ PR e — | g 2 He o1 [ 28
§ = 5308 X - 27 g ™ T S ape M 9,00
= 200 [11s00" 78.08 e 1409 b FE R - '
: wE = |
= L U E" I-I_l [RE] ‘ | L& U L L LU U L L U U LFH - ‘-’"l
0.40° o 14.51 H
18.23 65.82
5’Bol 1 I 1 1 1|1’53| 1 | 1 2.?5
S 2 H 3 of |
o %0 1 S
H - 14.51
™~ i 11.71 b =
:‘_\i s 2 T | i 5 57—2 ;
o 706 8.60 ]
0.8
]""‘_"""' ; .E J. I 1 :_ | : :‘ : [ : ; [ % i' | i_ 1 : 1 : ] :— : : _:_ 1 JI I _i [ 1 E ‘: g ]i i | ; I ! e | IZ
2.75 2.85 5.58 5.87 260 H 47.92 5.41 9 2.60 2.90 3.10
5 ' 1 8|8 5 i
S 18 . Mz ol g |z 2 5y L
' b K Jd2 N * == 59 & B % BY 2
2 60 37.7 s 4 @ e S =08 §5 ©
i 272 6 , B NS 411 ® = 8 g 2.80
[ 1 I | [ = | | 1 [ | @ 2 . - 0 :
> A9 Sl & @ e
i R 30 e i S0 00O 0 0 0 0O %(% ra C 0 :
1[8 e =+ = = '—J-ﬁ—l o - o ‘ | 96 73070 g B
w 114 ikl I 1 2 ! 1 T 2 & 10.79 e
© T e 44 30 glozs ?;‘[_8 2 T ‘é_ 2 % 158
A m 11.98 - 5.52 47.69 - 6.26 257 10.60 3.59
[ ; . 3o ] ] B i B | | { | | | | ] . . | = . E { F i | { | i = { | | F = | | ] ; { | | E |
5.65 5.88 2.81 x 240 2.89 2.88 2.79 5.99 8.47 6.37 5.36 5.41 3.862 2.94 5.46 3 2.60 3.48 458 2.80 2.87
« :.’) 2l ® "! (2] s [ P ,/\ ' £ - L5 ;‘{-“' e Ve © § N . g
OC;DC—}C E § i o %_6 O@UC q_ﬁg 1527'_ O@UC h=280 Ogpuc '_/JQZSCJC Oquu{: 0¢“z5u¢ QQDUQ Cepuc _%% 9 "-‘*)Sr'“k &?‘%iﬂ-— LOQOLKC. Choeeic % 81[
o O 118 < - K
I~ ; 3 19.3 |
3 | R 0 g . o ... L Deise
_ : : o © o _18_ 3 |l 0 & 22 I 3 33 -
o :gg || T8 = ';1%1.2%_% £ M 190 < 0. ol o 57.8 3 3 | %6 o 36.7 o 2 | & = % 1.48 32 S| 700 i
: | B ﬂ | | I 1 30
0030 38 133 OF] 8% 032 1.21 o 2 gl 20 | Opuc
5.47 - | - ~[19 5 i o0 Wl g | g 177 25 o~ Of 0
=-_—£-%46 _ ﬁl] 17.5 q.iu.sE {?3% = H E {IEEE-H X 1\ 1 = 35 @
ac ' s — ' e ey | ; T s ' J | S o 133 «
1. [ | 11 f . - 1 | B R -
% 1 ot 08 1 e ] & S Y , 29 8 N
o 138 @l e 00.51 278 S N 3%11 : 3 L E \ 22 S 3.43 =N i | Il
| i 10.3 , : optioo g \ . 45 Kopu?Po \ - 153 /M3,
526 s 5.33 h=3.90 mp “optieop 23,96, : . = B
| 1'&,‘ 7 .\ \\
"I. 4 \\I \\I
|!I .v'\‘.\‘
Py {ILHEY (AP TIE 7 s Ae2 I3 Fa A5 Y 1»‘ . i o~ e T T \!. , ~,\ / ‘ {
TJokdyp  fechusmas kemea MCIMHAG KoMHOMY Apxu buoe nomeuserul Tarbyp\ fecurmadpena \ Kiadkbag \




